SM2-2 8-Lining Up Quadratics - A5.notebook April 04, 2016

Starter

Get out your 2.7 packet and make sure your
"Ready, Set, Go" homework is finished. We
will go over any questions you have, and will
be turning it in soon!

Hang onto-
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Finish 2.7 Yl -4

9. One customer had an unusual request. She wanted a block that is extended 2 inches on one side
and decreased by 2 inches on the other. One of the employees thinks that this rectangle will hawve
the sameNsefa as the original square since one side was decreased by the same amount as the other
side was increased. What do you think? Use a diagram to find two expressiogs fq'rz:he area of this

block. (X v ’l\ Y- ’l) Xl + M [y

- - ‘\
X" -4 Ly
10. The result of the unusual request made the employee curious. Is there a pattern or a way to

predict the two expressions for area when one side is increased and the other side is decreased by
the same number? Try modeling these two problems, look at your answer to #8, and see if you can

find a pattern in the result.

’ 2 . (x+3j[x—3)=)(1’q
a@x+nex-n= X l
X 2 A
' Y | X \
¥| X = g

—~T e f"

11. What pattern did you notice? What is the result of (x + a)(x — a)? 3b

C \SO\'PC(-Q‘QO\-S WQ X 1% QA
perfect square q)t() -G %\n}*

KDIFFERENCE OF SQUARES® 2y

12. Some customers want both sides of the block reduced. Draw the diagram for the following
blocks and find a trinomial expression for the area of each bloc algebra to venfy the trinomial

WW{mfaund from the diagram. +1) A X 3)(
a (x—2)(x—3) = X'z'g)(-l_)(-\-(o \( l,h( +x -4 L‘-

= )(q' -yt p
(e-d)(x-¢)

13. Look back over all the equivalent expressions that you have written so far, and explain how to
tell if the thlrd te n the trmnnual expression ax” + bx + ¢ will be pnsmve or negative.
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2.8 Lining Up Quadratics

A Practice Understanding Task

Graph each function and find the vertex, the
y-intercept and the x-intercepts. Be sure to properly write

the intercepts as points.

1. =(x—1)(x+3
y= (- DEcr3)

Line of Symmetry X = _ |

I’ Vertex ﬂ,j3

- cintereepts (1LO) (=3.,0)
y- llltercept L} tera 'Pt .

ys (- IXx+)b>n
! 0= (k- Nxt?)
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= (-2) ()
- -y
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2
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3. gx)=—x(x+4)

Line of Symmetry

Vertex

x-intercepts

y-intercept
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4. Based on these examples, how can you use a quadratic function in factored form to:
a. Find the line of symmetry of the parabola?

b. Find the vertex of the parabola?

c. Find the x-intercepts of the parabola?

d. Find the y-intercept of the parabola?

e. Find the vertical stretch?
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5. Choose any two linear functions and write them in the form: f(x) = m(x — ¢), where mis

the slope of the line. Graph the two functions.

Linear function 1:

Linear function 2:

6. On the same graph as #5, graph the function P(x) that is the product of the two linear
functions that you have chosen. What shape is created?

7. Describe the relationship between x-intercepts of the linear functions and the x-intercepts
of the function P(x). Why does this relationship exist?
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11. How did you use the x and y intercepts of the parabola to select the two lines?

12. Are these the only two lines that could represent the linear factors of the parabola? If so,
explain why. If not, describe the other possible lines.

13. Use your two lines to write the equation of the parabola. Is this the only possible equation
of the parabola?
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Homework

Finish 2.8 "Ready, Set, Go"
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